How to calculate your item size in square inches (sq.in.)

Height

Width in Inches x Height in Inches = sq.in.

Shatterproof Ornaments

2.5"in height x 1.5"in width
means your cost will be
based on 4 square inches.

PSO-4 would be
the item number at this size.

Height Lapel or Magnetic Pins

1”in height x 1”in width
means your cost will be
based on 1 square inch.

PLP1-1 would be the item number
for a Lapel Pin at this size, or

item number PMM1-1 forour ||

Magnetic Pin.
J

Width
2
Height Key Chains
( 1.5"in height x 1”in width )
means your cost will be
based on 2 square inches.
PKC0-2 would be
the item number at this size.
Width
2
Height Write-On Badges
(" 2in height x 3” in width PMM3-6 would be
means your cost will be the item number at this size.
\_ based on 6 square inches.
\

2 Width 3

Width

1”in height x 0.75"in width
means your cost will be
based on 1 square inche.

PZPO-1 would be
the item number at this size.

Width

2

What shapes are acceptable?

Acceptable
angle radius

Unacceptable
angle radius




